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Marginal costing: The ascertainment of marginal cost and of the effect on profit of changes in volume or type of output by differentiating between fixed costs and variable costs.
Marginal cost: The amount at any given volume of output by which aggregate variable costs are changed if the volume of output is increased by one unit. In practice this is measured by the total variable cost attributable to one unit. Marginal cost can precisely be the sum of prime cost and variable overhead. 
Marginal Cost = Variable Cost = Direct Labour + Direct Material + Direct Expenses + Variable Overheads
Absorption Costing: a method of costing by which all direct cost and applicable overheads are charged to products or cost centers for finding out the total cost of production. Absorbed cost includes production cost as well as administrative and other cost
Direct costing: Direct costing is the practice of charging all direct cost to operations, processes or products, leaving all indirect costs to be written off against profits in the period in which they arise. Under direct costing the stocks are valued at direct costs, i.e., costs whether fixed or variable which can be directly attributable to the cost units.
Differential cost: It may be defined as “the increase or decrease in total cost or the Cost Accounting change in specific elements of cost that result from any variation in operations”. It represents an increase or decrease in total cost resulting out of: 
(a) producing or distributing a few more or few less of the products; 
(b) a change in the method of production or of distribution;
 (c) an addition or deletion of a product or a territory; and
 (d) selection of an additional sales channel. 
Differential cost, thus includes fixed and semi-variable expenses. It is the difference between the total costs of two alternatives. It is an adhoc cost determined for the purpose of choosing between competing alternatives, each with its own combination of income and costs.
Incremental cost: It is defined as, “the additional costs of a change in the level or nature of activity”. As such for all practical purposes there is no difference between incremental cost and differential cost. However, from a conceptual point of view, differential cost refers to both incremental as well as decremental cost. Incremental cost and differential cost calculated from the same data will be the same. In practice, therefore, generally no distinction is made between differential cost and incremental cost.
Contribution: Contribution or the contributory margin is the difference between sales value and the marginal cost [Contribution (C) = Sales (S) – Variable Cost].

Margin of Safety: This is the difference between the expected level of sales and the break even sales
Key factor: Key factor or Limiting factor is a factor which at a particular time or over a period limits the activities of an undertaking. It may be the level of demand for the products or services or it may be the shortage of one or more of the productive resources, e.g., labour hours, available plant capacity, raw material’s availability etc. Examples of Key Factors or Limiting Factors are:
(a) Shortage of raw material. (b) Shortage of labour. (c) Plant capacity available. (d) Sales capacity available. (e) Cash availability

Difference in profit under Marginal and Absorption costing: The above two approaches will compute the different profit because of the difference in the stock valuation. This difference is explained as follows in different circumstances.
 1. No opening and closing stock: In this case, profit / loss under absorption and marginal costing will be equal.
 2. When opening stock is equal to closing stock: In this case, profit / loss under two approaches will be equal provided the fixed cost element in both the stocks is same amount. 
3. When closing stock is more than opening stock: In other words, when production during a period is more than sales, then profit as per absorption approach will be more than that by marginal approach. The reason behind this difference is that a part of fixed overhead included in closing stock value is carried forward to next accounting period. 
4. When opening stock is more than the closing stock: In other words when production is less than the sales, profit shown by marginal costing will be more than that shown by absorption costing. This is because a part of fixed cost from the preceding period is added to the current year’s cost of goods sold in the form of opening stock.
Comparison between Direct Costing and Marginal Costing: In general, the terms marginal costing and direct costing are used as synonymous. However, direct costing differs from marginal costing in that some fixed costs considered direct are charged to operations, processes or products, whereas in marginal costing only variable costs are considered. Marginal costing is mainly concerned with providing of information to management to assist in decision making and for exercising control. Marginal costing is considered to be a technique with a broader meaning than direct costing. Marginal costing is also known as ‘variable costing’ or ‘out of pocket costing’.
Profit Volume ratio: It is the ratio establishing the relationship between the Cost Accounting contribution and the sales value.


Margin of safety ratio = (Total sales – BES)/ Total sales

Question No.1 A company produces single product which sells for Rs. 20 per unit. Variable cost is Rs. 15 per unit and Fixed overhead for the year is Rs.6,30,000. 
Required: 
(a) Calculate sales value needed to earn a profit of 10% on sales. (Ans: 210,000 units)
 (b) Calculate sales price per unit to bring BEP down to 1,20,000 units.  (Ans: Rs. 20.25)
(c) Calculate margin of safety sales if profit is Rs. 60,000. (Ans: Rs.240,000)

Question No.2 A company has fixed cost of Rs. 90,000, Sales Rs. 3,00,000 and Profit of Rs. 60,000. Required: 
i) Sales volume if in the next period, the company suffered a loss of Rs. 30,000. (Ans: Rs.120,000) 
ii) What is the margin of safety for a profit of Rs. 90,000 (Ans: Rs.180,000)

Question No.3 Product Z has a profit-volume ratio of 28%. Fixed operating costs directly attributable to product Z during the quarter II of the financial year 2009-10 will be Rs. 2,80,000. Calculate the sales revenue required to achieve a quarterly profit of Rs. 70,000. (Ans.Rs.1,250,000)

Question No.4 A Company sells two products, J and K. The sales mix is 4 units of J and 3 units of K. The contribution margins per unit are Rs. 40 for J and Rs.20 for K. Fixed costs are Rs. 6,16,000 per month. Compute the break-even point. (Ans: product J = 11200 units K= 8400 units)

Question No.5 Following information are available for the year 2008 and 2009 of PIX Limited: 
Year 				2008 			2009 
Sales 			Rs. 32, 00,000 		Rs.57, 00,000 
Profit/(Loss) 		(Rs.3,00,000) 		Rs.7, 00,000 
Calculate –(a) P/V ratio, (b) Total fixed cost, and (c) Sales required to earn a Profit of Rs.12,00,000.
(Ans: a. 40% b. Rs.1,580,000  c. Rs.6,950,000)

Question No.6 MNP Ltd sold 2,75,000 units of its product at Rs. 37.50 per unit. Variable costs are Rs. 17.50 per unit (manufacturing costs of Rs. 14 and selling cost Rs. 3.50 per unit). Fixed costs are incurred uniformly throughout the year and amount to Rs. 35,00,000 (including depreciation of Rs.15,00,000). there are no beginning or ending inventories. 
Required: (i) Estimate breakeven sales level quantity and cash breakeven sales level quantity.
 (ii) Estimate the P/V ratio.
 (iii) Estimate the number of units that must be sold to earn an income (EBIT) of Rs. 2,50,000.
 (iv) Estimate the sales level achieve an after-tax income (PAT) of Rs.2,50,000. Assume 40% corporate Income Tax rate
(Ans: i. 175000 units, 100,000 units ii) 53.33% iii)187500 units iv)Rs.73,43,750)
Question No.7 The following figures are related to LM Limited for the year ending 31st March, 2012 : Sales - 24,000 units @ Rs. 200 per unit; 
P/V Ratio 25% and Break-even Point 50% of sales.
 You are required to calculate: (i) Fixed cost for the year  (Ans: Rs.600,000)
(ii) Profit earned for the year  (Ans: Rs.600,000)
(iii) Units to be sold to earn a target net profit of Rs. 11,00,000 for a year. (Ans. units 34,000)
(iv) Number of units to be sold to earn a net income of 25% on cost. (Ans: 60,000 units)
(v) Selling price per unit if Break-even Point is to be brought down by 4,000 units. (Ans: Rs.225 per unit)

Question No. 8 ABC Ltd. can produce 4,00,000 units of a product per annum at 100% capacity. The variable production costs are Rs. 40 per unit and the variable selling expenses are Rs.12 per sold unit.
The budgeted fixed production expenses were Rs. 24,00,000 per annum and the fixed selling expenses were Rs. 16,00,000. During the year ended 31st March, 2008, the company worked at 80% of its capacity. The operating data for the year are as follows:
Production 					3,20,000 units
Sales @ Rs. 80 per unit			 	3,10,000 units
Opening stock of finished goods		 40,000 units
Fixed production expenses are absorbed on the basis of capacity and fixed selling expenses are recovered on the basis of period.
You are required to prepare Statements of Cost and Profit for the year ending 31st March, 2008:
(i) On the basis of marginal costing
(ii) On the basis of absorption costing.

Question No.9 Mega Company has just completed its first year of operations. The unit costs on a normal costing basis are as under:
(Rs.)
Direct material 4 kg @ Rs.4 = 			16.00
Direct labour 3 hrs @ Rs.18 = 			54.00
Variable overhead 3 hrs @ Rs.4 = 		12.00
Fixed overhead 3 hrs @ Rs.6 = 		18.00
100.00
Selling and administrative costs:
Variable 				Rs.20 per unit
Fixed 					Rs.7,60,000
During the year the company has the following activity:
Units produced = 24,000
Units sold = 			21,500
Unit selling price = 		Rs.168
Direct labour hours worked = 	72,000
Actual fixed overhead was Rs.48,000 less than the budgeted fixed overhead. Budgeted variable overhead was Rs. 20,000 less than the actual variable overhead. The company used an expected actual activity level of 72,000 direct labour hours to compute the predetermine overhead rates.
Required :
(i) Compute the unit cost and total income under:
(a) Absorption costing
(b) Marginal costing
(ii) Under or over absorption of overhead.
(iii) Reconcile the difference between the total income under absorption and marginal costing.

